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R # X4 ik 5 = it
01| T & H B 506 570 672 1,242
002 | 77 A H 6953 749 812 1,561
003| k£ & H Hfr 356 355 344 699
004 | % 9 g i) 986 1,202 1,089 2,291
005| XK R Hr 736 901 904 1,805
006 | & & F H 1,360 1,689 1,579 3,268
007 | # 3 ) 168 264 213 477
08| 5 d  Hr 819 972 1,055 2,027
009 | K f& H 531 727 715 1,442
010 | R H i) 989 1,324 1,424 2,748
o1 ]| £ & = B 668 829 882 1,711
012 | b ¥ H 866 1,142 1,274 2,416
013 | 8h H ) 554 753 841 1,594
04| & & H 876 1,114 1,139 2,253
015| ¢ B Hr 119 145 171 316
061 | XEREHET—TH 36 38 25 63
062 | XFEHETZTH 204 178 189 367
063 | XEHET=TH 14 36 60 96
064 | XFEHET T H 99 103 129 232
071 | £HAHI—TH 33 27 44 71
072 | £HABIZTH 271 272 228 500
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K 1 X A | HER 5 £ i
081 | M BT — T H 0 0 0 0
082 | FA T — T H 32 647 36 683
083 | A B = T H 169 165 199 364
091 | lis#Hr— T H 84 80 105 185
092 | BT _—TH 95 250 410 660
101 | FMET—TH 110 100 113 213
111 | FSHBET—TH 121 130 130 260
112 | FSHBEIZTH 86 71 69 140
113 | FHFHET=TH 116 114 126 240
114 | FSHAETETH 134 137 153 290
115 | FEHEATH 152 109 159 268
116 | EFSHHBAIAKRTHE 145 135 139 274
117 | FEHETETH 124 140 158 298
118 | EFSHAI/\NTH 140 144 156 300
121 | EBFHI—TH 78 69 77 146
122 | EBFHAI_TH 50 64 62 126
123 | EBFHI=TH 81 79 92 171
124 | EBFHAIMNTH 73 70 54 124
125 | ERFHTATH 104 114 116 230
126 | EBFHAIANTH 154 128 130 258
127 | EBFHETH 142 94 157 251

a & 13,034 16,230 16,430 32,660




